# **Permit**



Central Scheduling Office 1717 Elphinstone St Regina, SK S4N 0A1 PHONE:(306) 777-7979 FAX:(306) 777-6826

EMAIL:centralscheduling@regina.ca

Permit # R123757

Status Approved

Date Feb 13, 2025 11:57 AM

Organization Name Customer Type Organization Address	North Zone Soccer -1122 General Public 824 Dewdney Ave Regina, SK S4N 0G7	Organization Phone 1 Number	(306) 581-5309
Agent Name	James Courchene	Primary Phone Number Email Address	(306) 581-5309 northzonesoccer@gmail.com
System User	tranalli		

	55
\$3,846.99	Rental Fee
\$192.56	GST
\$0.00	Discounts
\$4,039.55	Subtotal
\$0.00	Deposits
\$0.00	Deposit Discounts
·	-
¢4.000.55	Total Permit Fee
\$4,039.55	i otal Permit Fee
\$0.00	Total Payment
	Refunds
\$0.00	
\$4,039.55	Balance

# North Zone League AF 25

5 resource(s) 162 booking(s) Subtotal: \$3,846.99

## **Booking Summary**

angster - Athletic Field (AF - Sport - Youth/Child)		Center: S	Sangster Park	
START DATE/TIME	END DATE/TIME		ATTENDEE	AMTW/OTAX
hu, May 1, 2025 6:00 PM	Thu, Jun 19, 2025 9:00 PM			\$1,465.0
Occurs every Monday, Tuesday, Wednesday and Thursday effective	05/01/2025 until 06/19/2025 from	n 6:00 PM to 9:00 PM.		
hu, May 1, 2025 6:00 PM	Thu, May 1, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates)	\$16.84 / Hour x 3	\$50.52		
Mon, May 5, 2025 6:00 PM	Mon, May 5, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates)	\$16.84 / Hour x 3	\$50.52		
ue, May 6, 2025 6:00 PM	Tue, May 6, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates)	\$16.84 / Hour x 3	\$50.52		
Ved, May 7, 2025 6:00 PM	Wed, May 7, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates)	\$16.84 / Hour x 3	\$50.52		
Thu, May 8, 2025 6:00 PM	Thu, May 8, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates)	\$16.84 / Hour x 3	\$50.52		
Mon, May 12, 2025 6:00 PM	Mon, May 12, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates)	\$16.84 / Hour x 3	\$50.52		

# R123757 Status Approved Page 1 of11

Tue, May 13, 2025 6:00 PM	Tue, May 13, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Wed, May 14, 2025 6:00 PM	Wed, May 14, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Thu, May 15, 2025 6:00 PM	Thu, May 15, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	ites) \$16.84 / Hour x 3	\$50.52		
Mon, May 19, 2025 6:00 PM	Mon, May 19, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	stes) \$16.84 / Hour x 3	\$50.52		
Tue, May 20, 2025 6:00 PM	Tue, May 20, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	stes) \$16.84 / Hour x 3	\$50.52		
Wed, May 21, 2025 6:00 PM	Wed, May 21, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Thu, May 22, 2025 6:00 PM	Thu, May 22, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Mon, May 26, 2025 6:00 PM	Mon, May 26, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Tue, May 27, 2025 6:00 PM	Tue, May 27, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Wed, May 28, 2025 6:00 PM	Wed, May 28, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Thu, May 29, 2025 6:00 PM	Thu, May 29, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Mon, Jun 2, 2025 6:00 PM	Mon, Jun 2, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Tue, Jun 3, 2025 6:00 PM	Tue, Jun 3, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Wed, Jun 4, 2025 6:00 PM	Wed, Jun 4, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Thu, Jun 5, 2025 6:00 PM	Thu, Jun 5, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Mon, Jun 9, 2025 6:00 PM	Mon, Jun 9, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Tue, Jun 10, 2025 6:00 PM	Tue, Jun 10, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Wed, Jun 11, 2025 6:00 PM	Wed, Jun 11, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	ites) \$16.84 / Hour x 3	\$50.52		
Thu, Jun 12, 2025 6:00 PM	Thu, Jun 12, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	tes) \$16.84 / Hour x 3	\$50.52		
Mon, Jun 16, 2025 6:00 PM	Mon, Jun 16, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Ra	stes) \$16.84 / Hour x 3	\$50.52		
Tue, Jun 17, 2025 6:00 PM	Tue, Jun 17, 2025 9:00 PM		100	\$50.52

# R123757 Status Approved Page 2 of11

Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 3	\$50.52		
Ved, Jun 18, 2025 6:00 PM	Wed, Jun 18, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 3	\$50.52		
Thu, Jun 19, 2025 6:00 PM	Thu, Jun 19, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 3	\$50.52		
ri, Jun 13, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM			\$101.
Occurs on selected dates effective 06/13/2025 until 06/20/2	2025.			
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 13, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 3	\$50.52		
Fri, Jun 20, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 3	\$50.52		
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM			\$404.
Occurs on selected dates effective 06/14/2025 until 06/21/2	2025.			
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 14, 2025 8:00 PM		100	\$202.0
Athletic Fields - Level 2 - Youth/Child (Schedule	d Rates) \$16.84 / Hour x 12	\$202.08		
Sat, Jun 21, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM		100	\$202.0
Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 12	\$202.08		
Sun, Jun 22, 2025 8:00 AM	Sun, Jun 22, 2025 8:00 PM		100	\$202.0
Athletic Fields - Level 2 - Youth/Child (Schedule	ed Rates) \$16.84 / Hour x 12	\$202.08		
Sangster - Passive Park (AF - Sport)			Sangster Park	
Sangster - Passive Park (AF - Sport) START DATE/TIME	END DATE/TIME		Sangster Park ATTENDEE	AMTW/OTAX
Sangster - Passive Park (AF - Sport)				
Stangster - Passive Park (AF - Sport) START DATE/TIME Thu, May 1, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM	Center:		
CART DATE/TIME Chu, May 1, 2025 6:00 PM Cocurs every Monday, Tuesday, Wednesday and Thursday	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM	Center:		\$0.0
Sangster - Passive Park (AF - Sport) START DATE/TIME	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  by effective 05/01/2025 until 06/19/2025 from	Center:	ATTENDEE	<b>\$0.0</b>
Sangster - Passive Park (AF - Sport)  START DATE/TIME  Thu, May 1, 2025 6:00 PM  Occurs every Monday, Tuesday, Wednesday and Thursday  Thu, May 1, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  By effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM	Center:	ATTENDEE	\$0.0 \$0.0 \$0.0
Sangster - Passive Park (AF - Sport) START DATE/TIME Thu, May 1, 2025 6:00 PM Occurs every Monday, Tuesday, Wednesday and Thursday Thu, May 1, 2025 6:00 PM Mon, May 5, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  By effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM	Center:	100 100	\$0.0 \$0.0 \$0.0
Sangster - Passive Park (AF - Sport) START DATE/TIME Thu, May 1, 2025 6:00 PM Occurs every Monday, Tuesday, Wednesday and Thursday Thu, May 1, 2025 6:00 PM Mon, May 5, 2025 6:00 PM Tue, May 6, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  By effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM	Center:	100 100 100	\$0.0 \$0.0 \$0.0 \$0.0
Chu, May 1, 2025 6:00 PM  Chu, May 5, 2025 6:00 PM  Chu, May 6, 2025 6:00 PM  Chu, May 7, 2025 6:00 PM  Chu, May 8, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  By effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM	Center:	100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0
Chu, May 1, 2025 6:00 PM  Chu, May 5, 2025 6:00 PM  Chu, May 6, 2025 6:00 PM  Chu, May 7, 2025 6:00 PM  Chu, May 8, 2025 6:00 PM  Chu, May 8, 2025 6:00 PM  Chu, May 12, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  By effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM	Center:	100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0
angster - Passive Park (AF - Sport)  TART DATE/TIME  thu, May 1, 2025 6:00 PM  thu, May 1, 2025 6:00 PM  thu, May 1, 2025 6:00 PM  thu, May 5, 2025 6:00 PM  thu, May 6, 2025 6:00 PM  thu, May 7, 2025 6:00 PM  thu, May 8, 2025 6:00 PM  thu, May 8, 2025 6:00 PM  thu, May 12, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM	Center:	100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0
angster - Passive Park (AF - Sport)  TART DATE/TIME  thu, May 1, 2025 6:00 PM  Poccurs every Monday, Tuesday, Wednesday and Thursday  thu, May 1, 2025 6:00 PM  Mon, May 5, 2025 6:00 PM  Tue, May 6, 2025 6:00 PM  Ved, May 7, 2025 6:00 PM  Thu, May 8, 2025 6:00 PM  Thu, May 12, 2025 6:00 PM  Tue, May 13, 2025 6:00 PM  Ved, May 14, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM	Center:	100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
angster - Passive Park (AF - Sport)  TART DATE/TIME  hu, May 1, 2025 6:00 PM  loccurs every Monday, Tuesday, Wednesday and Thursday hu, May 1, 2025 6:00 PM  don, May 5, 2025 6:00 PM  lue, May 6, 2025 6:00 PM  lue, May 7, 2025 6:00 PM  hu, May 8, 2025 6:00 PM  lon, May 12, 2025 6:00 PM  lue, May 13, 2025 6:00 PM  lue, May 14, 2025 6:00 PM  lue, May 14, 2025 6:00 PM  lue, May 15, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM	Center:	100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
angster - Passive Park (AF - Sport)  TART DATE/TIME  hu, May 1, 2025 6:00 PM  ccurs every Monday, Tuesday, Wednesday and Thursday, hu, May 1, 2025 6:00 PM  lon, May 5, 2025 6:00 PM  ue, May 6, 2025 6:00 PM  lon, May 7, 2025 6:00 PM  hu, May 8, 2025 6:00 PM  lon, May 12, 2025 6:00 PM  ue, May 13, 2025 6:00 PM  lon, May 14, 2025 6:00 PM  lon, May 15, 2025 6:00 PM  hu, May 15, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM  Mon, May 19, 2025 9:00 PM	Center:	100 100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
angster - Passive Park (AF - Sport)  TART DATE/TIME  hu, May 1, 2025 6:00 PM  Accurs every Monday, Tuesday, Wednesday and Thursday, hu, May 1, 2025 6:00 PM  Ion, May 5, 2025 6:00 PM  Ived, May 7, 2025 6:00 PM  Ion, May 8, 2025 6:00 PM  Ion, May 12, 2025 6:00 PM  Ived, May 13, 2025 6:00 PM  Ived, May 14, 2025 6:00 PM  Ived, May 14, 2025 6:00 PM  Ived, May 15, 2025 6:00 PM  Ion, May 19, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM	Center:	100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
angster - Passive Park (AF - Sport)  TART DATE/TIME  hu, May 1, 2025 6:00 PM  ccurs every Monday, Tuesday, Wednesday and Thursday hu, May 1, 2025 6:00 PM  lon, May 5, 2025 6:00 PM  ved, May 7, 2025 6:00 PM  lon, May 8, 2025 6:00 PM  lon, May 12, 2025 6:00 PM  ue, May 13, 2025 6:00 PM  ved, May 14, 2025 6:00 PM  hu, May 15, 2025 6:00 PM  hu, May 19, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM  Mon, May 19, 2025 9:00 PM	Center:	100 100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Engster - Passive Park (AF - Sport) ETART DATE/TIME Ethu, May 1, 2025 6:00 PM Execurs every Monday, Tuesday, Wednesday and Thursday Ethu, May 1, 2025 6:00 PM Even May 6, 2025 6:00 PM Even May 7, 2025 6:00 PM Even May 8, 2025 6:00 PM Ethu, May 12, 2025 6:00 PM Even May 13, 2025 6:00 PM Even May 14, 2025 6:00 PM Even May 14, 2025 6:00 PM Even May 15, 2025 6:00 PM Even May 19, 2025 6:00 PM Even May 19, 2025 6:00 PM Even May 20, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from  Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM  Mon, May 19, 2025 9:00 PM  Tue, May 20, 2025 9:00 PM	Center:	100 100 100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Sangster - Passive Park (AF - Sport) START DATE/TIME Thu, May 1, 2025 6:00 PM Decurs every Monday, Tuesday, Wednesday and Thursday Thu, May 1, 2025 6:00 PM Mon, May 5, 2025 6:00 PM Tue, May 6, 2025 6:00 PM Thu, May 7, 2025 6:00 PM Thu, May 8, 2025 6:00 PM Thu, May 12, 2025 6:00 PM Tue, May 13, 2025 6:00 PM Tue, May 14, 2025 6:00 PM Thu, May 15, 2025 6:00 PM Thu, May 19, 2025 6:00 PM Thu, May 20, 2025 6:00 PM Thu, May 20, 2025 6:00 PM Thu, May 20, 2025 6:00 PM Thu, May 21, 2025 6:00 PM Thu, May 21, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM  Mon, May 19, 2025 9:00 PM  Tue, May 20, 2025 9:00 PM  Wed, May 21, 2025 9:00 PM  Wed, May 21, 2025 9:00 PM	Center: 1	100 100 100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Cangster - Passive Park (AF - Sport)  CTART DATE/TIME  Thu, May 1, 2025 6:00 PM  Cocurs every Monday, Tuesday, Wednesday and Thursday  Thu, May 1, 2025 6:00 PM  Mon, May 5, 2025 6:00 PM  Tue, May 6, 2025 6:00 PM  Ved, May 7, 2025 6:00 PM	END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  Ty effective 05/01/2025 until 06/19/2025 from Thu, May 1, 2025 9:00 PM  Mon, May 5, 2025 9:00 PM  Tue, May 6, 2025 9:00 PM  Wed, May 7, 2025 9:00 PM  Thu, May 8, 2025 9:00 PM  Mon, May 12, 2025 9:00 PM  Tue, May 13, 2025 9:00 PM  Wed, May 14, 2025 9:00 PM  Thu, May 15, 2025 9:00 PM  Mon, May 19, 2025 9:00 PM  Tue, May 20, 2025 9:00 PM  Wed, May 21, 2025 9:00 PM  Wed, May 21, 2025 9:00 PM  Thu, May 22, 2025 9:00 PM	Center: 1	100 100 100 100 100 100 100 100 100 100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0

# R123757 Status Approved Page 3 of11

Thu, May 29, 2025 6:00 PM	Thu, May 29, 2025 9:00 PM	100	\$0.00
Mon, Jun 2, 2025 6:00 PM	Mon, Jun 2, 2025 9:00 PM	100	\$0.00
Tue, Jun 3, 2025 6:00 PM	Tue, Jun 3, 2025 9:00 PM	100	\$0.00
Wed, Jun 4, 2025 6:00 PM	Wed, Jun 4, 2025 9:00 PM	100	\$0.00
Thu, Jun 5, 2025 6:00 PM	Thu, Jun 5, 2025 9:00 PM	100	\$0.00
Mon, Jun 9, 2025 6:00 PM	Mon, Jun 9, 2025 9:00 PM	100	\$0.00
Tue, Jun 10, 2025 6:00 PM	Tue, Jun 10, 2025 9:00 PM	100	\$0.00
Wed, Jun 11, 2025 6:00 PM	Wed, Jun 11, 2025 9:00 PM	100	\$0.00
Thu, Jun 12, 2025 6:00 PM	Thu, Jun 12, 2025 9:00 PM	100	\$0.00
Mon, Jun 16, 2025 6:00 PM	Mon, Jun 16, 2025 9:00 PM	100	\$0.00
Tue, Jun 17, 2025 6:00 PM	Tue, Jun 17, 2025 9:00 PM	100	\$0.00
Wed, Jun 18, 2025 6:00 PM	Wed, Jun 18, 2025 9:00 PM	100	\$0.00
Thu, Jun 19, 2025 6:00 PM	Thu, Jun 19, 2025 9:00 PM	100	\$0.00
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM		\$0.00
Occurs on selected dates effective 06/13/2025 until	06/20/2025.		
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 13, 2025 9:00 PM	100	\$0.00
Fri, Jun 20, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM	100	\$0.00
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM		\$0.00
Occurs on selected dates effective 06/14/2025 until	06/21/2025.		
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 14, 2025 8:00 PM	100	\$0.00
Sat, Jun 21, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM	100	\$0.00
Sun, Jun 22, 2025 8:00 AM	Sun, Jun 22, 2025 8:00 PM	100	\$0.00
Resource level fees			\$19.33
Facility Permit Fee (Scheduled Rates)	\$19.33 / Each x 1 \$19.33		
Stan Oxelgren - Passive Park - East (AF - Spo		Center: Stan Oxelgren Park	ANTIMICTAY
START DATE/TIME	END DATE/TIME	ATTENDEE	AMTW/OTAX
Thu, May 1, 2025 6:00 PM	Thu, Jun 19, 2025 9:00 PM  Thursday effective 05/01/2025 until 06/19/2025 from 6:00 PM to 9	WOO PM	\$0.00
Thu, May 1, 2025 6:00 PM	Thu, May 1, 2025 9:00 PM	100 FW.	\$0.00
Mon, May 5, 2025 6:00 PM	Mon, May 5, 2025 9:00 PM	100	\$0.00
Tue, May 6, 2025 6:00 PM	Tue, May 6, 2025 9:00 PM	100	\$0.00
Wed, May 7, 2025 6:00 PM	Wed, May 7, 2025 9:00 PM	100	\$0.00
vveu, iviay 7, 2025 6.00 Pivi	Wed, May 7, 2025 9.00 FIVI	100	φυ.υυ
Thu May 8 2025 6:00 DM	Thu May 8, 2025 0:00 DM	100	20.00
	Thu, May 8, 2025 9:00 PM	100	\$0.00
Mon, May 12, 2025 6:00 PM	Mon, May 12, 2025 9:00 PM	100	\$0.00
Thu, May 8, 2025 6:00 PM  Mon, May 12, 2025 6:00 PM  Tue, May 13, 2025 6:00 PM	Mon, May 12, 2025 9:00 PM Tue, May 13, 2025 9:00 PM	100 100	\$0.00 \$0.00
Mon, May 12, 2025 6:00 PM	Mon, May 12, 2025 9:00 PM	100	\$0.00

# R123757 Status Approved Page 4 of11

Mon, May 19, 2025 6:00 PM	Mon, May 19, 2025 9:00 PM	100	\$0.00
Tue, May 20, 2025 6:00 PM	Tue, May 20, 2025 9:00 PM		\$0.00
Wed, May 21, 2025 6:00 PM	Wed, May 21, 2025 9:00 PM	100	\$0.00
Thu, May 22, 2025 6:00 PM	Thu, May 22, 2025 9:00 PM	100	\$0.00
Mon, May 26, 2025 6:00 PM	Mon, May 26, 2025 9:00 PM	100	\$0.00
Tue, May 27, 2025 6:00 PM	Tue, May 27, 2025 9:00 PM	100	\$0.00
Wed, May 28, 2025 6:00 PM	Wed, May 28, 2025 9:00 PM	100	\$0.00
Thu, May 29, 2025 6:00 PM	Thu, May 29, 2025 9:00 PM	100	\$0.00
Mon, Jun 2, 2025 6:00 PM	Mon, Jun 2, 2025 9:00 PM	100	\$0.00
Tue, Jun 3, 2025 6:00 PM	Tue, Jun 3, 2025 9:00 PM	100	\$0.00
Wed, Jun 4, 2025 6:00 PM	Wed, Jun 4, 2025 9:00 PM	100	\$0.00
Thu, Jun 5, 2025 6:00 PM	Thu, Jun 5, 2025 9:00 PM	100	\$0.00
Mon, Jun 9, 2025 6:00 PM	Mon, Jun 9, 2025 9:00 PM	100	\$0.00
Tue, Jun 10, 2025 6:00 PM	Tue, Jun 10, 2025 9:00 PM	100	\$0.00
Wed, Jun 11, 2025 6:00 PM	Wed, Jun 11, 2025 9:00 PM	100	\$0.00
Thu, Jun 12, 2025 6:00 PM	Thu, Jun 12, 2025 9:00 PM	100	\$0.00
Mon, Jun 16, 2025 6:00 PM	Mon, Jun 16, 2025 9:00 PM	100	\$0.00
Tue, Jun 17, 2025 6:00 PM	Tue, Jun 17, 2025 9:00 PM	100	\$0.00
Wed, Jun 18, 2025 6:00 PM	Wed, Jun 18, 2025 9:00 PM	100	\$0.00
Thu, Jun 19, 2025 6:00 PM	Thu, Jun 19, 2025 9:00 PM	100	\$0.00
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM		\$0.00
Occurs on selected dates effective 06/13/2025 until 06/20/2025.			
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 13, 2025 9:00 PM	100	\$0.00
Fri, Jun 20, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM	100	\$0.00
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM		\$0.00
Occurs on selected dates effective 06/14/2025 until 06/21/2025.			
			\$0.00
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 14, 2025 8:00 PM	100	ψ0.00
Sat, Jun 14, 2025 8:00 AM Sat, Jun 21, 2025 8:00 AM	Sat, Jun 14, 2025 8:00 PM Sat, Jun 21, 2025 8:00 PM	100	\$0.00
Sat, Jun 21, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM	100	\$0.00
Sat, Jun 21, 2025 8:00 AM  Sun, Jun 22, 2025 8:00 AM  Resource level fees  Facility Permit Fee (Scheduled Rates) \$19.33 /	Sat, Jun 21, 2025 8:00 PM  Sun, Jun 22, 2025 8:00 PM  Each x 1 \$19.33	100 100	\$0.00 \$0.00
Sat, Jun 21, 2025 8:00 AM  Sun, Jun 22, 2025 8:00 AM  Resource level fees  Facility Permit Fee (Scheduled Rates) \$19.33 /  Stan Oxelgren - Passive Park - West (AF - Sport)	Sat, Jun 21, 2025 8:00 PM  Sun, Jun 22, 2025 8:00 PM  Each x 1 \$19.33	100 100 Senter: Stan Oxelgren Park	\$0.00 \$0.00 \$19.33
Sat, Jun 21, 2025 8:00 AM  Sun, Jun 22, 2025 8:00 AM  Resource level fees  Facility Permit Fee (Scheduled Rates) \$19.33 /  Stan Oxelgren - Passive Park - West (AF - Sport)  START DATE/TIME	Sat, Jun 21, 2025 8:00 PM  Sun, Jun 22, 2025 8:00 PM  Each x 1 \$19.33	100 100	\$0.00 \$0.00
Sat, Jun 21, 2025 8:00 AM  Sun, Jun 22, 2025 8:00 AM  Resource level fees  Facility Permit Fee (Scheduled Rates) \$19.33 /  Stan Oxelgren - Passive Park - West (AF - Sport)	Sat, Jun 21, 2025 8:00 PM  Sun, Jun 22, 2025 8:00 PM  Each x 1 \$19.33  END DATE/TIME  Thu, Jun 19, 2025 9:00 PM	100 100 Senter: Stan Oxelgren Park ATTENDEE	\$0.00 \$0.00 \$19.33
Sat, Jun 21, 2025 8:00 AM  Sun, Jun 22, 2025 8:00 AM  Resource level fees  Facility Permit Fee (Scheduled Rates) \$19.33 /  Stan Oxelgren - Passive Park - West (AF - Sport)  START DATE/TIME  Thu, May 1, 2025 6:00 PM	Sat, Jun 21, 2025 8:00 PM  Sun, Jun 22, 2025 8:00 PM  Each x 1 \$19.33  END DATE/TIME  Thu, Jun 19, 2025 9:00 PM	100 100 Senter: Stan Oxelgren Park ATTENDEE	\$0.00 \$0.00 \$19.33
Sat, Jun 21, 2025 8:00 AM  Sun, Jun 22, 2025 8:00 AM  Resource level fees  Facility Permit Fee (Scheduled Rates) \$19.33 /  Stan Oxelgren - Passive Park - West (AF - Sport)  START DATE/TIME  Thu, May 1, 2025 6:00 PM  Occurs every Monday, Tuesday, Wednesday and Thursday effectives	Sat, Jun 21, 2025 8:00 PM  Sun, Jun 22, 2025 8:00 PM  Each x 1 \$19.33  END DATE/TIME  Thu, Jun 19, 2025 9:00 PM  ctive 05/01/2025 until 06/19/2025 from 6:00 PM to 9:00	100 100 Eenter: Stan Oxelgren Park ATTENDEE	\$0.00 \$0.00 \$19.33 AMTW/OTAX \$0.00

# R123757 Status Approved Page 5 of11

Tue, May 6, 2025 6:00 PM	Tue, May 6, 2025 9:00 PM	100	\$0.00
Wed, May 7, 2025 6:00 PM	Wed, May 7, 2025 9:00 PM	100	\$0.00
Thu, May 8, 2025 6:00 PM	Thu, May 8, 2025 9:00 PM	100	\$0.00
Mon, May 12, 2025 6:00 PM	Mon, May 12, 2025 9:00 PM	100	\$0.00
Tue, May 13, 2025 6:00 PM	Tue, May 13, 2025 9:00 PM	100	\$0.00
Wed, May 14, 2025 6:00 PM	Wed, May 14, 2025 9:00 PM	100	\$0.00
Thu, May 15, 2025 6:00 PM	Thu, May 15, 2025 9:00 PM	100	\$0.00
Mon, May 19, 2025 6:00 PM	Mon, May 19, 2025 9:00 PM	100	\$0.00
Tue, May 20, 2025 6:00 PM	Tue, May 20, 2025 9:00 PM	100	\$0.00
Wed, May 21, 2025 6:00 PM	Wed, May 21, 2025 9:00 PM	100	\$0.00
Thu, May 22, 2025 6:00 PM	Thu, May 22, 2025 9:00 PM	100	\$0.00
Mon, May 26, 2025 6:00 PM	Mon, May 26, 2025 9:00 PM	100	\$0.00
Tue, May 27, 2025 6:00 PM	Tue, May 27, 2025 9:00 PM	100	\$0.00
Wed, May 28, 2025 6:00 PM	Wed, May 28, 2025 9:00 PM	100	\$0.00
Thu, May 29, 2025 6:00 PM	Thu, May 29, 2025 9:00 PM	100	\$0.00
Mon, Jun 2, 2025 6:00 PM	Mon, Jun 2, 2025 9:00 PM	100	\$0.00
Tue, Jun 3, 2025 6:00 PM	Tue, Jun 3, 2025 9:00 PM	100	\$0.00
Wed, Jun 4, 2025 6:00 PM	Wed, Jun 4, 2025 9:00 PM	100	\$0.00
Thu, Jun 5, 2025 6:00 PM	Thu, Jun 5, 2025 9:00 PM	100	\$0.00
Mon, Jun 9, 2025 6:00 PM	Mon, Jun 9, 2025 9:00 PM	100	\$0.00
Tue, Jun 10, 2025 6:00 PM	Tue, Jun 10, 2025 9:00 PM	100	\$0.00
Wed, Jun 11, 2025 6:00 PM	Wed, Jun 11, 2025 9:00 PM	100	\$0.00
Thu, Jun 12, 2025 6:00 PM	Thu, Jun 12, 2025 9:00 PM	100	\$0.00
Mon, Jun 16, 2025 6:00 PM	Mon, Jun 16, 2025 9:00 PM	100	\$0.00
Tue, Jun 17, 2025 6:00 PM	Tue, Jun 17, 2025 9:00 PM	100	\$0.00
Wed, Jun 18, 2025 6:00 PM	Wed, Jun 18, 2025 9:00 PM	100	\$0.00
Thu, Jun 19, 2025 6:00 PM	Thu, Jun 19, 2025 9:00 PM	100	\$0.00
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM		\$0.00
Occurs on selected dates effective 06/13/2025 until 06/20/2025			
Fri, Jun 13, 2025 6:00 PM	Fri, Jun 13, 2025 9:00 PM	100	\$0.00
Fri, Jun 20, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM	100	\$0.00
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM		\$0.00
Occurs on selected dates effective 06/14/2025 until 06/21/2025	5.		
Sat, Jun 14, 2025 8:00 AM	Sat, Jun 14, 2025 8:00 PM	100	\$0.00
Sat, Jun 21, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM	100	\$0.00
Sun, Jun 22, 2025 8:00 AM	Sun, Jun 22, 2025 8:00 PM	100	\$0.00
Resource level fees			\$19.33

# R123757 Status Approved Page 6 of11

Facility Permit Fee (Scheduled Rates) \$19.3  Faylor Field - Practice Field (AF - Sport - Youth/Child	33 / Each x 1	\$19.33	Conton	Forder Field	
START DATE/TIME	END DA	ΓΕ/TIME	Center: 1	Taylor Field  ATTENDEE	AMTW/OTAX
Гhu, May 1, 2025 6:00 PM		y 29, 2025 9:00 PM			\$454.6
Occurs every Tuesday and Thursday effective 05/01/2025 u					
Fhu, May 1, 2025 6:00 PM		/ 1, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled		16.84 / Hour x 3	\$50.52	100	φυυ.υ
Fue, May 6, 2025 6:00 PM	•	y 6, 2025 9:00 PM	ψ50.52	100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled		16.84 / Hour x 3	\$50.52	100	φου.
Thu, May 8, 2025 6:00 PM		y 8, 2025 9:00 PM	ψ00.02	100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled		16.84 / Hour x 3	\$50.52		***
Fue, May 13, 2025 6:00 PM		/ 13, 2025 9:00 PM	<b>400.02</b>	100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled	,	16.84 / Hour x 3	\$50.52		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Гhu, May 15, 2025 6:00 PM	,	/ 15, 2025 9:00 PM	*****	100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled		16.84 / Hour x 3	\$50.52		, , , ,
ue, May 20, 2025 6:00 PM	,	/ 20, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled		16.84 / Hour x 3	\$50.52		
Гhu, May 22, 2025 6:00 PM	Thu, Ma	y 22, 2025 9:00 PM		100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Гue, May 27, 2025 6:00 PM	Tue, May	/ 27, 2025 9:00 PM		100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Гhu, May 29, 2025 6:00 PM	Thu, Ma	y 29, 2025 9:00 PM		100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Mon, May 5, 2025 6:00 PM	Wed, Ju	n 18, 2025 9:00 PM			\$707.
Occurs every Monday and Wednesday effective 05/05/2025	until 06/18/2025	from 6:00 PM to 9:00 PN	1.		
Mon, May 5, 2025 6:00 PM	Mon, Ma	y 5, 2025 9:00 PM		100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Wed, May 7, 2025 6:00 PM	Wed, Ma	ay 7, 2025 9:00 PM		100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Mon, May 12, 2025 6:00 PM	Mon, Ma	y 12, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Ved, May 14, 2025 6:00 PM	Wed, Ma	y 14, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Mon, May 19, 2025 6:00 PM	Mon, Ma	y 19, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Ved, May 21, 2025 6:00 PM	Wed, Ma	y 21, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Mon, May 26, 2025 6:00 PM	Mon, Ma	y 26, 2025 9:00 PM		100	\$50.
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		
Ned, May 28, 2025 6:00 PM	Wed, Ma	y 28, 2025 9:00 PM		100	\$50.5
Athletic Fields - Level 2 - Youth/Child (Scheduled	Rates) \$	16.84 / Hour x 3	\$50.52		

# R123757 Status Approved Page 7 of11

Mon, Jun 2, 2025 6:00 PM	Mon, Jun 2, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Wed, Jun 4, 2025 6:00 PM	Wed, Jun 4, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Mon, Jun 9, 2025 6:00 PM	Mon, Jun 9, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Wed, Jun 11, 2025 6:00 PM	Wed, Jun 11, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Mon, Jun 16, 2025 6:00 PM	Mon, Jun 16, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Wed, Jun 18, 2025 6:00 PM	Wed, Jun 18, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Fri, Jun 20, 2025 6:00 PM	Fri, Jun 20, 2025 9:00 PM		100	\$50.52
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 3	\$50.52		
Sat, Jun 21, 2025 8:00 AM	Sat, Jun 21, 2025 8:00 PM		100	\$202.08
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 12	\$202.08		
Sun, Jun 22, 2025 8:00 AM	Sun, Jun 22, 2025 8:00 PM		100	\$202.08
Athletic Fields - Level 2 - Youth/Child (Scheduled Rates	s) \$16.84 / Hour x 12	\$202.08		

#### **Facility Notes**

Athletic Field gate is locked - a key must be obtained from the Central Scheduling Office with a \$50 key deposit. Please call 306-777-7979 to make an appointment.

#### Waivers and Information

WAIVER NAME	DUE DATE	FOR	SIGNING STATUS
Signed Contract - Rental Terms &	May 1, 2025	James Courchene	Waiver Signed by: James
Conditions			Courchene on Mar 20, 2025

Payments may be made by cash, cheque, VISA, MasterCard, American Express and debit with Front Line Staff at the Sportplex, North West Leisure Centre, Sandra Schmirier Leisure Centre, Neil Balkwill Civic Arts Centre, City of Regina Neighbourhood Centres; or at the Central Scheduling Office located in the Sportplex. Please have a copy of your permit available. Cheques (payable to City of Regina) can be mailed to the City of Regina, P.O. Box 1790, Regina, Saskatchewan. S4P 3C8 Attn: Parks, Recreation & Cultural Services - 6th Floor

### TERMS AND CONDITIONS

The terms and conditions listed below apply to the use of the facility, park or open space for which this Permit is issued. In addition, the City of Regina has established bylaws, which govern the use of parks, open spaces and facilities located within the City of Regina. All licensees are required to abide by these bylaws and any applicable policies. In consideration of the terms and conditions set out below, the City of Regina and the Licensee agree as follows:

- 1. The City of Regina may cancel this Permit at any time with or without cause. In addition, the City of Regina may cancel this Permit without notice if cause is due to circumstances beyond its control. In such cases, an effort will be made to notify Licensees within a reasonable time. If the Permit is cancelled the Licensee will have no claim or right to damages, or reimbursement on account of any loss, damage, or expense whatsoever. Further, the City of Regina may change the date of the Permit if the facility, park or open space is required for other purposes. Advance payment fees will be refunded if this occurs.
- 2. The licensee agrees that this permit may be amended by the City upon notice to the licensee without requiring further signature of the licensee. The licensee will be provided a copy of the amendment.
- 3. The Licensee agrees to pay the applicable Permit fees in accordance with the terms under 'payment method' set out on the front of the Permit unless otherwise specified. When a booking is made less than 7 days in advance, the Licensee agrees to pay the applicable Permit fees at the time of booking. Failure to comply with this will result in cancellation of the Permit by the City of Regina.

- 4. The Licensee may be required to pay a deposit to compensate the City of Regina for any extra maintenance, damage, theft or callout costs. If the deposit is not used to compensate for any extra costs, the remaining balance of the deposit will be returned to the Licensee less any applicable administrative charges.
- 5. If the Licensee wishes to cancel this Permit, the Licensee must provide the City of Regina with written notice of the cancellation at least 7 days in advance of the reserved dates and times set out in the Permit unless otherwise specified. If the Licensee complies with this condition, his or her Permit fees will be returned less any applicable administrative charge. Failure to comply with this condition will result in the Licensee being charged for the full cost of the fees set out in the Permit.
- 6. Notwithstanding clause 4, for special events, the Licensee may be required to provide the City of Regina with written notice of a cancellation more than 7 days in advance of the reserved dates and times set out in the Permit unless otherwise specified. This requirement will be set out on the front of the Permit. If the Licensee complies with this condition, his or her Permit fees will be returned less any applicable administrative charge. Failure to comply with this condition will result in the Licensee being charged for the full cost of the fees set out in the Permit.
- 7. This Permit is granted for the exclusive benefit of the Licensee and may not be transferred, assigned or sub-licensed to any other party.
- 8. The Licensee is responsible for the conduct and supervision of all persons using the facility, park or open space on the dates and times set out in the Permit.
- 9. The Licensee hereby agrees to save harmless and indemnify the City of Regina against any and all claims, liabilities, demands, damages or rights or causes of action whatever, made or asserted by anyone arising out of or incidental to the application or to the use and occupancy of the permitted premises.
- 10. The Licensee should purchase insurance to protect against any risks that are associated with the Licensee's activity. The Licensee should see an insurance broker to discuss these insurance needs. In the event of damage being caused to any City of Regina property or assets, the City of Regina may seek to recover those damages from the Licensee. The City of Regina is not responsible for any losses that the Licensee causes. The City of Regina does not accept any responsibility whatsoever for any losses, property damage or injury that may result from the Licensee's activity.
- 11. The City of Regina is not responsible for the loss or theft of the Licensee's property, or the property of anyone attending on the invitation of the Licensee.
- 12. The Licensee is responsible for all damage to facilities, equipment or furnishings, however caused, arising out of or during the use of the facilities set out in the Permit. Future Permit requests will not be considered for any Licensee that has an outstanding account with the City of Regina in this regard.
- 13. The City of Regina reserves the right to evict any individuals who are seen as not acting in the best interests of the program or activity or who display inappropriate behaviour.
- 14. The Licensee is subject to any provisions set out in any additional licensing or lease agreements that the Licensee has entered into with the City of Regina.
- 15. The Licensee understands the legislative requirements that relate to the activities and program being conducted and therefore is responsible for ensuring that these activities and the participants in them will comply with the requirements of any applicable federal or provincial legislation.
- 16. The facility, park or open space will be available for use only upon presentation of the Permit to the employee in charge (if applicable). The facility, park or open space is to be used only on the date(s) and hour(s) shown and for the purpose specified on the Permit.
- 17. The Licensee is prohibited from charging any admission fee for the use of the facility, park or open space unless authorized by the City of Regina.
- 18. The Licensee is prohibited from selling any goods or services in the facility, park or open space except as covered by written agreement with the City of Regina. Where the Licensee is authorized to sell goods or services, this shall be noted on the Permit.
- 19. The Licensee is prohibited from having any alcoholic beverages in the facility, park or open space unless the City of Regina gives written permission and the Licensee obtains a special occasion permit from Saskatchewan Liquor and Gaming Authority. For further information, please call 306-787-5563.
- 20. If the Licensee is serving alcohol the Licensee must obtain \$5 million general liability insurance which states that host liquor liability is included or states that host liquor liability is excluded. If a vehicle owned by the group will be used during the event the Licensee must obtain \$1 million auto liability insurance. The City of Regina must also be added as Additional Insured as follows:

City of Regina, 2476 Victoria Ave, Regina, SK S4P 3C8

A copy of the insurance must be provided to the City of Regina 10 business days prior to the event. Failure to provide the City of Regina with a copy of the insurance will result in cancellation of the booking.

#R123757 Status Approved Page 9 of11

- 21. No smoking or vaping shall be permitted in the facility.
- 22. The Licensee is responsible for setting up, removing and cleaning facility equipment unless otherwise stated in the Permit.
- 23. The Licensee must ensure that keys or access cards for the facility are picked up, used and returned in accordance with the policy applicable to that facility. Where the Licensee fails to return a key or access card, the Licensee will be responsible for all costs associated with replacing the facility's locks.
- 24. If the Licensee should ensure appropriate crowd control and security for their event at the cost of the Licensee. City of Regina may deploy security personnel at a cost to the Licensee, at the City's discretion; however, the City's security personnel will not provide crowd control services.
- 25. The Licensee is solely responsible for payment of any applicable license fees to copyright societies (eg: SOCAN) with respect to the playing of live or recorded music in the facility.
- 26. The Licensee may not place any advertisement, notice, picture or decoration in the facility without the prior written consent of the City of Regina.
- 27. If the Licensee is provided with a WiFi password then the Licensee agrees to keep the password confidential and shall ensure that it is not shared with or utilized by individuals not associated with the Licensee.

The undersigned has read and on behalf of the Licensee agrees to be bound by this Permit/License and the Terms and Conditions contained herein and attached hereto, and hereby warrants and represents that he/she executes this Permit/License on behalf of the Licensee and has sufficient power, authority and capacity to bind the Licensee with his/her signature. The Licensee and/or his agent shall not pledge the credit of the Corporation of the City of Regina and shall save it harmless against any and all claims for damages against persons or property which may arise during or as a consequence of this agreement or the occupation arising hereunder.

AF, BD, Canada Games, Leibel Field, May 1, 2025 Outdoor Tennis

Waiver Signed

- 1) To validate your permit with the City of Regina, a signed copy of the original permit must be returned by email, dropped off in person, or faxed to the Central Scheduling office within 7 days of receipt of this contract. Failure to do so can result in the permit being cancelled and times released to other groups. The Central Scheduling office is located at the Sportplex, Fieldhouse, 1717 Elphinstone Street, centralscheduling@regina.ca or Fax: 306-777-6826.
- 2) Please verify dates, times, and locations within this permit. If there are any additions and/or deletions required and advise the Central Scheduling office through the online amendment form. Changes and cancellations must be received a minimum of seven days in advance. Changes and cancellations will not be processed on accounts with outstanding balances. Any weather related cancellations must be received within 48 hours of the booking date, anything outside of this timeline will not be cancelled/refunded.
- 3) Have your permit with you with you in the event there is another user group using your booked space.
- 4) If facility spaces are not being used, please return the time back to the Central Scheduling office so that they may be allocated to other groups. If time is not being used and not returned it will not be allocated to your organization in future seasons.
- 5) Please see payment schedule for payment date(s). Failure to comply with payment schedule may result in the remaining bookings being cancelled and times released to other groups. Payment can be made with a credit card by calling 306-777-7979, or you can go to the nearest Leisure Centre and pay in person.
- 6) The City of Regina has a zero-tolerance policy regarding alcohol, drug use, and/or smoking at City of Regina facilities. User groups that fail to comply with this policy and consume at City facilities, as witnessed by security spot checks or facility staff, will have their permit(s) cancelled and their facility use privileges revoked for the remainder of the season.
- 7) It is the user's responsibility to check the field status report daily at 2:00 p.m. and weekends at 7:30 a.m. to ensure that fields & diamonds are open, particularly if conditions have been wet. Please refer to the City of Regina website under "Athletic Field & Ball Diamond Status" or call 306-777-7979. If inclement weather does occur, leagues/coaches are responsible for assessing field conditions, and stopping play if the field is wet enough that damage will result from continued use.
- $\ensuremath{\mathtt{8}}\xspace)$  Iffields are damaged during your permitted time, the league will be charged for repairs.
- 9) Lighting charges may be added to applicable facilities. Please call Central Scheduling at 306-777-7979 for more information.

Payment Schedules

Original Balance: \$4,039.55

Current Balance: \$4,039.55

DUE DATE

AMOUNT DUE

AMOUNT PAID

WITHDRAWAL ADJUSTMENT

BALANCE

# R123757 **Status** Approved **Page** 10 of 11

May 1, 2025	\$1,827.67	\$0.00	\$0.00	\$1,827.67
Jun <b>1,</b> 2025	\$2,211.88	\$0.00	\$0.00	\$2,211.88

X:

Date:

## North Zone Soccer

Customer Type: General Public

Customer ID: 75259

Mailing Address: 824 Dewdney Ave, Regina, SK

S4N 0G7

Organization Phone 1 Number: (306) 581-5309 Authorized Agent Name: James Courchene Primary Phone Number: (306) 581-5309 Email Address: northzonesoccer@gmail.com

# R123757 Status Approved Page 11 of 11